$$\frac{\operatorname{Find}:}{(2)} I = \int \frac{dx}{x^2 - ux + 7} \qquad \text{(b)} J = \int \frac{dx}{2x^2 - x - 3} \qquad (46)$$

$$(C) K = \int \frac{dx}{(x - 1)(x^2 - 2x - 2)}$$

$$(C) K = \int \frac{dx}{(x - 1)(x^2 - 2x - 2)}$$

$$(C) K = \int \frac{dx}{(x - 1)(x^2 - 2x - 2)}$$

$$(C) K = \int \frac{dx}{(x - 1)(x^2 - 2x - 2)}$$

$$(C) K = \int \frac{dx}{(x - 2)^2 + (\sqrt{12})^2} = \left(\frac{1}{12} \tan^{-2} (\frac{x - 2}{12}) + C\right)$$

$$(D) Usin's Cartial fraction technique, runn$$

$$J = \int \frac{dx}{(2x - 3)(x + 4)} dx = \int \Gamma(\frac{A}{2x - 3}) + \frac{B}{(x + 4)} dx$$

$$(C) K = \int \frac{dx}{(2x - 3)} dx - \frac{1}{5} \int \frac{dx}{x + 1} = \left(\frac{1}{5} \ln\left[\frac{2x + 3}{x + 4}\right] + C\right)$$

$$(C) K = \int \frac{dx}{(x - 1) \sqrt{2^2 - 3x + 1 - 3}} = \int \frac{dx}{(x - 1) \sqrt{2^2 - 3x + 1 - 3}} = \int \frac{dx}{(x - 1) \sqrt{(x - 1)^2 - (\sqrt{5})^2}} = \int \frac{du}{(x - 1) \sqrt{(x - 1)^2 - (\sqrt{5})^2}} = \int \frac{du}{(x - 1) \sqrt{(x - 1)^2 - (\sqrt{5})^2}}$$

$$(C) K = \int \frac{dx}{(x - 1) \sqrt{2^2 - 3x + 1 - 3}} = \int \frac{dx}{(x - 1) \sqrt{(x - 1)^2 - (\sqrt{5})^2}} = \int \frac{du}{(x - 1) \sqrt{(x - 1)^2 - (\sqrt{5})^2}} = \int \frac{du}{(x - 1) \sqrt{(x - 1)^2 - (\sqrt{5})^2}} = \int \frac{du}{(x - 1) \sqrt{(x - 1)^2 - (\sqrt{5})^2}} = \int \frac{du}{(x - 1) \sqrt{(x - 1)^2 - (\sqrt{5})^2}} = \int \frac{du}{(x - 1) \sqrt{(x - 1)^2 - (\sqrt{5})^2}} = \int \frac{du}{(x - 1) \sqrt{(x - 1)^2 - 1}} = \int \frac{2x - 4}{\sqrt{(x + 1)^2 - 1}} = \int \frac{2x - 4}{\sqrt{(x + 1)^2 - 1}} = \int \frac{dx}{\sqrt{(x + 1)^2 - 1}} = \frac{dx}{\sqrt{(x + 1)^2 - 1}} =$$

$$\begin{array}{l} (b) \ \mathcal{I} = \int x \, \sqrt{x-4} \, dx. \end{array}$$

$$\begin{array}{l} (47) \ Put \ u^{2} = x - 1 \implies 2u \, du = dx \ , \ \text{Tren} \\ I = \int (u^{2} + 4) \cdot u \cdot 2u \, du = 2 \int (u^{u} + u^{2}) \, du = \frac{2}{5} \, u^{5} + \frac{2}{5} \, u^{2} + C \\ = \left[\frac{2}{5} \sqrt{(x-1)^{5}} + \frac{2}{5} \sqrt{(x-1)^{5}} + C \right] \\ (C) \ I = \int \frac{dx}{3(x+4)} \, v \, Put \ (\overline{x} = u \implies x = u^{2} \implies dx = 2u \, du = \overline{\tau} \text{ or } \\ I = \int \frac{2u}{3(u+4)} \, du = \frac{2}{3} \int \frac{3(u+4) - 4}{3(u+4)} \, du \\ = \frac{2}{3} \left[\int du - \frac{1}{13} \int \frac{3du}{3(u+4)} \right] = \frac{2}{7} \, U - \frac{1}{5} \, \ln |v|x+5| + C \\ = \left\{ \frac{2}{2} \, \overline{1x} - \frac{2}{5} \, \ln |x|\overline{x}+4| + C \right\} \\ (d) \ I = \int \frac{dx}{(x+2) - 1} \, x \, \frac{\sqrt{x+2} + 1x}{\sqrt{x+2} + 1x} - \int \frac{\sqrt{x+2} + 1x}{x+2 - x} \, dx \\ = \frac{1}{2} \int \sqrt{x+2} \, dx + \frac{1}{2} \int \sqrt{x} \, dx - \frac{1}{2} \, \frac{1}{2} \, \frac{2}{3} \, x^{3} = \frac{1}{2} \, \sqrt{x^{2}} \\ y \, du = dx \, \cdots \\ y \, u^{2} \, u = dx \, \cdots \\ y \, u^{2} \, u = dx \, \cdots \\ I = \left\{ \frac{1}{2} \left[\overline{1x+2} \, dx + \frac{1}{2} \int \sqrt{x} \, dx \, - \frac{1}{2} \, \frac{1}{2} \, \frac{2}{3} \, x^{3} = \frac{1}{2} \, \sqrt{x^{2}} \\ x^{2} + \frac{2}{3} \, \frac{1}{3} \, \sqrt{x^{2}} \, \frac{1}{3} \, \frac{1}{3$$

Ans:
[48]
[2] Using Partial fraction metrod read

$$I = \int \frac{5x^{2} + 20x + 6}{x(x^{2} + 20x + 6)} dx = \int \frac{5x^{2} + 20x + 6}{x(x + 4)^{2}} dx = \int \left[\frac{A}{x} + \frac{B}{(x + 4)} + \frac{C}{(x + 4)^{2}}\right] dx$$
Then, $A(x + 1)^{2} + B x(x + 1) + C x = 5 x^{2} + 20 x + 6$
Put: $x = -4 \Rightarrow -C = 5 - 20 + 6 \Rightarrow \boxed{C = 3}$
 $x = 0 \Rightarrow \boxed{A = 6}$.
 $x = 1 \Rightarrow 2u + 2B + 9 = 5 + 20 + 6 \Rightarrow \boxed{B = -1}$, Then
 $I = 6 \ln |x| - \ln |x + 4| + 9 \frac{(x + 4)^{4}}{-1} + C$
 $= \left[\ln \left[\frac{x^{6}}{x^{4} - \frac{5}{2} + 4} \right] \right] dx$
 $i = \int \frac{x + 7}{x^{2} - x - 6} dx$, Using Partial fraction, non-
 $i = \int \frac{x + 7}{x^{2} - x - 6} dx$, Using Partial fraction, non-
 $i = \int \frac{x + 7}{(x + 3)^{2}(x - 3)^{2}} dx = \int \left[\frac{A}{x + 2} + \frac{B}{x - 1} \right] dx = A \ln |x + 2| + B \ln |x - 3| + C$
 $= \left[\ln \frac{(2 - 3)^{4}}{(x + 3)^{4}(x - 3)^{B} + C} \right]$
A(x - 3) + $B(x + 2) = x + 7$
Put $x = 3 \Rightarrow 5B = 10 \Rightarrow 9 = 1$,
 $x = -2 \Rightarrow -5A = = + h = -4$.
Then $\left[J = \ln \left[\frac{(2 - 3)^{2}}{(2 + 2)} \right] + C \right]$
(C) $K = \left\{ \frac{2x^{3} + 4x - 8}{x(x - 1)(x^{2} + 4)} dx$. Using Partial fraction, Then
 $= \int \left[\frac{A}{x} + \frac{B}{x - 5} + \frac{Cx + D}{x^{2} + 4} \right] dx$
 $= \int \left[\frac{A}{x} + \frac{B}{x - 5} + \frac{Cx + D}{x^{2} + 4} \right] dx$
 $= A \ln |x| + 8 \ln |x - 1| + \frac{C}{2} \ln (x^{2} + a) + \frac{D}{2} \tan^{1}(\frac{x}{2}) + 6 \Rightarrow \textcircled{B}$
Hou should find the Genetarits A, B, C, D,

$$\begin{aligned} A(x-1)(x^{2}+u) + B \times (x^{2}+u) + (Cx+D) \times (x-1) = 2x^{2}-ux-8 \end{aligned}$$

$$\begin{aligned} \text{Put} \quad x = 0 \Rightarrow -uA = -8 \Rightarrow [A=2] \\ x = 1 \Rightarrow 5R = -10 \Rightarrow [B=-2] \\ x = xi \Rightarrow (x ci + D)(-u - zi) = -16i - 8i - 8 \end{aligned}$$

$$\begin{aligned} = \frac{(x ci + D)(-u - zi) = -16i - 8i - 8}{(x^{2} - u)} \end{aligned}$$

$$\begin{aligned} = \frac{(x ci + D)(-u - zi) = -16i - 8i - 8}{(x^{2} - u)} \end{aligned}$$

$$\begin{aligned} = \frac{(x ci + D)(-u - zi) = -16i - 8i - 8}{(x^{2} - u)} \end{aligned}$$

$$\begin{aligned} = \frac{(x ci + D)(-u - zi) = -16i - 8i - 8}{(x^{2} - u)} \end{aligned}$$

$$\begin{aligned} = \frac{(x ci + D)(-u - zi) = -16i - 8i - 8}{(x^{2} - u)} \end{aligned}$$

$$\begin{aligned} = \frac{(x ci + D)(-u - zi) = -16i - 8i - 8}{(x^{2} + 1)} \end{aligned}$$

$$\begin{aligned} = \frac{(x ci + D)(-u - zi) = -16i - 8i - 8}{(x^{2} + 1)} \end{aligned}$$

$$\begin{aligned} = \frac{(x ci + D)(-u - zi) = -16i - 8i - 8}{(x^{2} + 1)} \end{aligned}$$

$$\begin{aligned} = \frac{(x ci + D)(-u - zi) = -16i - 8i - 8}{(x^{2} + 1)} \end{aligned}$$

$$\begin{aligned} = \frac{(x ci + D)(-u - zi) = -16i - 8i - 8}{(x^{2} + 1)} \end{aligned}$$

$$\begin{aligned} = \frac{(x ci + D)(-u - zi) = -16i - 8i - 8}{(x^{2} + 1)} \end{aligned}$$

$$\begin{aligned} = \frac{(x ci + D)(-u - zi) = -16i - 8i - 8}{(x^{2} + 1)} \end{aligned}$$

$$\begin{aligned} = \frac{(x ci + D)(-u - zi) = -16i - 8i - 8}{(x^{2} + 1)} \end{aligned}$$

$$\begin{aligned} = \frac{(x ci + D)(-u - zi) = -16i - 8i - 8}{(x^{2} + 1)} \end{aligned}$$

$$\begin{aligned} = \frac{(x ci + D)(-u - zi) = -16i - 8i - 8}{(x^{2} + 1)} \end{aligned}$$

$$\begin{aligned} = \frac{(x ci + D)(-u - zi) = -16i - 8i - 8}{(x^{2} + 1)} \end{aligned}$$

$$\begin{aligned} = \frac{(x ci + D)(-u - zi) = -16i - 8i - 8}{(x^{2} + 1)} \end{aligned}$$

$$\begin{aligned} = \frac{(x ci + D)(-u - zi) = -2i + 2i - 2ii + 2ii - 2ii + 2ii$$

(c)
$$\mathcal{H} = \int \frac{x^2 + 4 - 4}{(x^2 + 1)^2} dx = \int \frac{dx}{x^2 + 1} - \int \frac{dx}{(x^2 + 1)^2}$$

$$= taxt^{1} x - \left(\int \frac{dx}{(x^2 + 1)^2}\right) \Rightarrow 0ut x = tan \theta \Rightarrow dx = sec^{2} \theta d\theta$$

$$= \int \frac{sec^{2} \theta}{sec^{2} \theta} d\theta = \int Gs^{2} \theta d\theta = \frac{1}{2} \int (cs 2\theta + 1) d\theta$$

$$= \int \frac{sec^{2} \theta}{sec^{2} \theta} d\theta = \int Gs^{2} \theta d\theta = \frac{1}{2} \int (cs 2\theta + 1) d\theta$$

$$= \int \frac{1}{2} \sin 2\theta + \theta_{2} = \frac{1}{2} \sin \theta Gs \theta + \frac{\theta}{2} + C$$

$$= \frac{1}{2} \cdot \frac{1}{\sqrt{x^2 + 1}} \cdot \frac{x}{\sqrt{x^2 + 1}} + \frac{1}{2} tax^{1} x + C$$

$$= \int H = \frac{1}{2} tax^{-1} x - \frac{x}{2(x^{2} + 1)} + C$$
(f) $N = \int \sin^{2} x (cs^{2} x) dx = \frac{1}{4} \int (1 - (cs 2x)) (1 - (cs 2x)) de$

$$= \frac{1}{4} \int (1 - Gs^{2} xx) dx = \frac{1}{4} \int \sin^{2} 2x + 4x = \frac{1}{2} \int (4 - cs ux) dx$$

$$= \left[\frac{1}{8} x - \frac{1}{22} \sin ux + C\right]$$
Find: (a) $T = \int sin^{2} x Cs^{5} x + x$. (d) $L = \int sec^{5} x + tan^{1} x dx$.
(b) $T = \int cs^{4} x dx$
(c) $\mathcal{H} = \int \frac{tan^{4} x}{15cc} dx$
Arres:
(d) $T = \int sin^{2} x (cs^{5} x - tcs x) dx = \int sin^{2} x (1 - sin^{2} x)^{2} ccs x dx$
 $gut t = \int ux x \Rightarrow du = Cs x dx$. Then
 $T = \int u^{2} (4 - u^{2})^{2} du = \int u^{2} (4 - 2u^{2} + u^{4}) du$

$$= \int [u^{2} - 2u^{4} + u^{6}] \frac{1}{4} du = \frac{1}{2} u^{2} - \frac{2}{5} u^{5} + \frac{1}{4} u^{7} + C$$

$$= \int \frac{1}{2} \sin x - \frac{1}{25} \sin^{5} x + \frac{1}{4} \sin^{7} x + C$$

(b)
$$J = \int (Gs^{2}x)^{2} dx = \int \left[\frac{1}{2} (1 + Gs_{2}x) \right]^{2} dx$$

$$= \int_{A} \int \left[\frac{1}{4} + 2 Gs_{2}x + Gs^{2}xx \right] dx = \int_{A} x + \int_{A} sin xx + \int_{B} \int (1 + Gs_{4}x) dx$$

$$= \int_{A} x + \int_{A} sin xx + \int_{B} x + \frac{1}{32} sin ux + C$$

$$= \left[\frac{3}{8} x + \frac{1}{4} sin 2x + \frac{1}{8} x + \frac{1}{32} sin ux + C \right]$$
(c)
$$\int \frac{tan^{3}x}{1 sec x} dx = \Rightarrow Sut \ U = sec \ x \Rightarrow du = sec \ x \ (tan \ x \ dx) = tu = \frac{1}{4} x + \frac{1}{4} sin x \ dx = \int \frac{(sec^{2}x - 1)(tan \ x}{1 sec \ x} dx) = \int \frac{(10^{2} - 1)}{1 tu} \frac{du}{u}$$

$$= \int \frac{tan^{2}x \cdot tan^{3}x}{1 sec \ x} dx = \int \frac{(sec^{2}x - 1)(tan \ x}{1 sec \ x} dx) = \int \frac{(10^{2} - 1)}{1 tu} \frac{du}{u}$$

$$= \int (u^{\frac{1}{2}} - u^{\frac{2}{2}}) du = \frac{2}{3} u^{\frac{2}{3}} + 2 u^{\frac{1}{2}} + C = \int \frac{1}{4} sec^{\frac{1}{2}} x + \frac{2}{1 sec \ x} + C$$
(d)
$$= \int sec^{\frac{1}{3}}x \cdot tan^{\frac{3}{3}}x \ dx = \int sec^{\frac{2}{3}}x \ (1 + tan^{2}x) \ tan^{\frac{1}{3}}x \ dx$$

$$= \int \frac{1}{3} \int (tan^{\frac{3}{3}}x \cdot sec^{\frac{2}{3}}x + tan^{\frac{3}{3}}x \ sec^{\frac{2}{3}}x \ dx$$

$$= \int \frac{1}{3} \int (tan^{\frac{3}{3}}x \cdot sec^{\frac{2}{3}}x + tan^{\frac{3}{3}}x \ sec^{\frac{2}{3}}x \ dx$$

$$= \int \frac{1}{3} \int (tan^{\frac{3}{3}}x - sec^{\frac{2}{3}}x \ dx = \int (1 + (st^{\frac{2}{3}})) \ dx$$

$$= \int \frac{1}{4} (tan^{\frac{3}{3}}x - sec^{\frac{2}{3}}x \ dx$$

$$= \int \frac{1}{3} \int (tan^{\frac{3}{3}}x + \frac{1}{6} tan^{\frac{3}{3}}x \ dx = \int (1 + (st^{\frac{2}{3}})) \ dx$$

$$= \int \frac{1}{4} (tan^{\frac{3}{3}}x - sec^{\frac{2}{3}}x \ dx = \int (1 + (st^{\frac{2}{3}})) \ dx$$

$$= \int \frac{1}{2} (st^{\frac{2}{3}}x - sc^{\frac{2}{3}}x \ dx = \int (1 + (st^{\frac{2}{3}}x)) \ dx$$

$$= \int \frac{1}{2} (st^{\frac{2}{3}}x + \frac{1}{6} tx^{\frac{2}{3}}) - 2 \int \frac{1}{2} (st^{\frac{2}{3}}x \ dx) = -a (sc^{\frac{2}{3}}x \ dx)$$

$$= \int \frac{1}{2} \int \frac{1}{2} (st^{\frac{2}{3}}x + \frac{1}{4} tx^{\frac{2}{3}}x \ dx) = \int \frac{1}{2} (st^{\frac{2}{3}}x - sc^{\frac{2}{3}}x \ dx)$$

$$= \int \frac{1}{2} \int \frac{1}{2} (st^{\frac{2}{3}}x + \frac{1}{4} tx^{\frac{2}{3}}x \ dx) = \int \frac{1}{2} (st^{\frac{2}{3}}x \ dx) = -a (sc^{\frac{2}{3}}x \ dx)$$

$$= \int \frac{1}{2} \int \frac{1}{2} (st^{\frac{2}{3}}x + \frac{1}{4} tx^{\frac{2}{3}}x \ dx) = \int \frac{1}{2} (st^{\frac{2}{3}}x \ dx) = -a (sc^{\frac{2}{3}}x \ dx)$$